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Overcoming barriers in mathematics – helping children move from level 2 to level 3


‘Deciding which operation’ cards

	Leila saves 50p each week for 6 weeks.

How much money will she save altogether?


	60 children were in the school play.

36 were boys.

How many were girls?



	Apples are sold in

packs of four. 

I need to buy 12 apples.

How many packs must I buy?


	Sinead had a length of ribbon 86 cm long.

She cut it into two pieces.

One piece is 29 cm long.

How long is the other piece?



	Nine days ago, Misty the dog was 86 days old.

How many days old

is she now?


	Five friends share out

a roll of stickers. 

It contains 40 stickers.

How many stickers do they each get?
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